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Part-A (Compulsory)
wnT-21 ( e )
V/hat o you mean by declared goods? Wi e ¥ a1 39 9oEa £2

What do you mean by Subsequent sale? 3wt famnt & o &1 mﬂ'& ¥?
What do you understand by TIN number?

~ f TIN T § &9 w1 g &7

What is “Input Tax Crédit” under Rajasthan VAT Act?

e e watda wt aifufam % o7 e e Ffe ||

In which situation registration becomes compulory for a dealer?

e -9t ofifeufy ], wﬂw@wmﬁ%ﬂaqqﬂmmmﬁ
e &7

Write a short note on ‘Goods’ under the Customs Act, 1962.

o oo rfufam, 1962 ¥ =ia A mﬁﬂmﬁﬁmﬂml
What are the based of levying customs duty?
?ﬁmwmﬁmﬁ-ﬂwﬂ YR &2

The sale prlce including sales tax of a product is Rs.51,300. [f the rate of

* sales tax is 14% and the rate of Central Excise duty is 12. 5% find out the Ex-

duty price of the product.

U IR 1 faga X wfea frra e 51,300 %, ¥ 1 4R faswa w a6
14% B At STIR-YEF il T 12.5% B 0 IW IR ol N Yok el
IR

Which article has been added in constitution for the validity of introduction
of service tax?

ﬁmmﬁﬁmﬁmmmm@wmﬁﬂﬁ—mmﬁamw 2?

Due date of payment of service tax is determined by point of taxation.

- Explain.

ﬁmm%waﬁ%ﬂﬁﬁ:wﬁﬁmﬁmﬁaﬁ?ﬁ%lmm
Part-B (Compulsory)
wr-a ( afad )
Mention any four information given in the return of sales to be filed under
the Central Sales Tax Act.
Fta fora W afafEa & awhmaﬂaﬁawﬁﬁaﬁﬁﬁwﬂﬁé
I arelt Tl 9R gl @1 3ea A |

A registered manufacture purchased raw material worth Rs. 10 Lakhs and
paid value added tax @ 5%. He manufactured 10,000 units of a certain
product from this raw material and sold 5,000 units for Rs, 25 Lakhs. He
collected value added tax from the buyer @ 5%. Find out net tax payable

by the manufacture.

e St Fral % 10 @Rg $9 Hed w9 Tl %%aﬁm@rqm
mf%mwwmimmﬁnmﬂﬁaﬁmﬁwomm
fafida = e weate fart A 5,000 3FTEET 25 T T9A W 99 I
a1 5% H Y gea ufafifa & off oy fean Fmia g <a ga sUw!
ufen 3 St |
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What do you mean by additional duty of customs payable v/s 3 (1) of the
Customs Traiff Act, 19757 How is it calculated?

d g St st 1975 =t urr 3 (1) ¥ wew 39 atfafiea S g
H SR F91 N9 ¥ ? ST O W W @ I &7 |

What do you understand by Eight digit classification under the Central
Excise Tariff Amendment Act, 20057

FEIY IS Yook WYEh WA tfufam, 2005 3 oTwia 3N Sidtg Fiiter
¥ 39 591 FHEA €2

Explain in briefthe exemption given to small scale service providers.

wwmﬂmmmﬁmwﬁaﬁaﬁﬁ@mgﬁaﬁmﬁm|

Mr. Ramesh Collected Rs, 4, 120 in excess of semee tax payable by a
customer. Similary he collected Rs. 24,720 from another customer by way
of service tax while service tax was not payable on that service. Whether
Mr. Ramesh should deposit these amount to the c‘redit of the Central

Government?
T 3 T T R TGN 29 A IR A TR 4,120 7. % e dn
R IgA a1 o<t WK | gEt TS ® 24,720 T, W1 A9 R IgE W
o wafs s d ATt = ﬁtﬁmaﬂatﬁﬁaﬂm |
ER ¥ BA A I FHT A2 r

Part-C ( WIT-6)

Unit-E( ¥%§-1)
When is a purchase or sale of goods regarded as purchase of sales in the
course of Inter-State trade or commerce? Explain with suitable example. 15
fret s 1 - fareed sriedia SaTOR @ iR ¥ STRI H8 WAL A
§? o IO A qHEE

Or

The particular of sales of a registered dealer of Jaipur for quanier ended on
30th September, 2015 are as under:

Rs.

(i) Inter-state sales of old conis to

unregistered dealer (Rate of Sales tax 5%) 42,000
(i) Export Sales * 3,00,000
(i) Inter-state sales of coal to registered -

dealer on form-C (Rate of Sale tax 5%) 4,08,,000
(iv) Sale of land | 4,00,000
(v) Inter-state sales of declared goods to

Unregistered dealer (Rate of Sales tax 5%) 16,80,000

{vi) Inter-state sales of raw material for

manufacturing of geods to registered
dealer against form C (Rate of Sales tax 1%) 60,600
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(vii) Inter-state sales of Deshi Ghee to

Unregistered dealer (Rate of State tax 5%) 1,68,000
Compute taxable turnover of this dealer and tax payable by him under the
Central Sales Tax Act for the quarter ending on 30th September, 2015. The

amount of sales includes central sales tax. 10+5

30 flama, 2015 3 T ¥R Al frandt % faQ SR 3 T st s
%! F@ fasnt = faaro Froafafea €

.

(@) SusiiEa SNR A qud fawel

g fasnt (R § ST d W 5%) 42,000
() frafe & I 3,00,000
(i) "ot sarad W Fraw At ol

o w-C (P A FUHR W 5%) 4,08 000
(iv) vfa=feea 400,000
(v) SOFa TN & wfa W &t

ity fapt (T & @ W 5%) 16 80,000
i) Pmin w4 ¥g 5= W@ F: WSiF

Tt T FH-C W A<

Rt (AR W 1%) | 60,600
(vii) i = Y} ardsfipa sqmrd w |

FAEE it (TR A WA WS%) . 148,000

30 firart, 2015 ) TAT A AT i & g e forsra e aifufram
#F IAnia ¥ SN W ATg IEd g T T ET MO I | fnpg 6

uft % F=fta g %t Wt &

Unit-II(FE-11)
Explain giving suitable examples how the taxable tumover is determined
under the Rajasthan Value Added Tax Act, 20037 15

ITGR IS0 3 g et Y i eredr e wRafir w sifbfam, 2003
& sr=wia i arg anad w1 P e wer fwar s €2
Or

An importer imported some goods from Amercia in Indiaat § 15,000 of CIF
basis. The consignment contains 6,250 articles and on each articles Rs.
200 has been printed as maximum retail price. Under Section 4A of the
Excise Act 40% abatement is allowed from the maximum retail price. Relevant
exchange rate is determined by the Central Board of Excise and customs
and Reserve Bank of India was Rs 64.75 and 64.50 respectively.

The item imported attracts basic duty at 15%. If similar goods were
manufactured in India, excise duty payable as per tariff is 12.5%. Additional
duty under Section 3 (5) is payable on such goods @ 4%.

Arrive at the assessable value and the total duty payable thereon. 8+7
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T STl 1 YA W AR § $e Wi e TR faas CIF g
(erTa-<im Td IREET Hed) 15,000 S o1 ) 39 § 6,350 aqy § wen
TOE a5 W AfUFad FeH 959 F T A 200 797 ifa ¥ | SR o
fufan = W 4A ¥ aee UEt agel W sifuwman wes qea o § 40% =
TR IYYWA G & Sl T 1 IS Yok @ °iT e & Feig 918
YR fisrd e g fRuifta st fafrra g Faw: 64.75 T93 391 64.50
TR
IR HTE Y SMYRYT WA I0F 15% | o ¥ 1 9f T &t At
R & ST 9 & A IS AR 12.5% B T W IS Yo <F Tl |
U 91 R 877 3 (5) % aea ifaliaa dw gor 4% St XA /1@
FSF A T A1 3G 9 Y HE WA Y I il |

| Unit-II1( 3oTE-111)

How are the taxable services valued for the purpose of charging service

tax? 15 .

Ao ot Y g 3 Fore v el o Hion fod T e s &2
O

A company manufactured and sold 20,000 units of a product. The price of
each unit is Rs, [ 10 'which included 10% sales tax but does not include
excise duty. It also includes the following : https://www.mdsuonline.com
() Advertising charges Rs.1,20,000

(i) Publicity expenses Rs. 60,000

(i) Freight Rs, 1,00,000

(iv) Outward handing charges Rs. 20,000

(v) Selling organisation,eﬂp nses Rs. 1,60,000

The Company purchased iﬂf)}%worth Rs. 4,00,000 for this purpose and
paid basic excise duty of ﬁs 0,000. It also purchased capital goods worth
Rs. 5,00,000 and paid excise duty of Rs. 62,500. '
Calculate the excise duty payable by the company if basic duty of excise
on the product in 12.5% Will your answer differ if the company charges
depreciation under Section 32 of the Income Tax Act on the amount of
capital goods of Rs. §5,62,5007 . 1243
G A Y U IR 1 20,000 SHTRAT 91 AT fama 1 ww THE F
e 110 794 & T 10% fasra T afmiem &, g 510 3R YT
ftnfera €7 & 1399 s oft wimfoa €

G) Tasmaa =13 1,20,000 T3

(i) WERA 60,000 TG

(i) VTl 1,00,000 T

(iv) BSTE-H03 &% 4T 20,000 T

(v) a1 g3 & S99 1,60,000 €93

@ ¥ 9 TR W 4,00,000 $GL Yo F ST WL @9l 50,000 FE H



. IMYRT U YEF FHMT | FFR 5,00,000 T TF H Yo GHE
T[T AL 62,500 I 1 ITTE Y[ Tl |

FIA! R 49 TR YTk i T HIA, wﬁwwmaﬂwwm
o 1 T 12.5% ¥ | 71 et S o= g1 Ay syt stae situfam

T 4T 32 3 A 562,500 T & Yo HIH W W G2 W B &7



